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Class: X| PHYSICS - ONEE MARK DIBCUSSION Date: -
1) havo tha samo dimenalonal formula,
n) Forca and momentum 1) Btronn nnd Btraln
c) Donsity and lnanr donalty d) Work and potontlol enorgy
X
2) Tho voloclly of a bodly ln oxproseod oo v e -;--I‘ JU . Tho dimonslonal formula for x in

n) MLOT® b) M°LT® Ce) MULT , d) MLT®
3) Which of the following sots havo difforont dimonslons? ‘
0) Pressure, Young's modulus, Strogs b) E.M.F potentlal difference, electric potentlal
¢} Hoat, wotk done, enorgy d) Dipole moment, electric flux eloctric field
4) The number of significart digits In 0.0006032 Is )8 b7 )4 'd)2
5) Percontage errors In the measurement of mass and speed are 2% and 3% respectively. The error
In the estimate of kinellc energy obtalned by measuring mass and speed will be -
a) 12% b)) 10% . c) 8% d)2%
N i o |
0) The displacement of particle is glven by X = a, -+ % Ll . What s its acceleration?
a) 2a,/3 . b) -2a,/3 . 'cjag . d) zero
7) A water fountain on the ground sprinkles water all around IL. (f the speed of water coming out of
the fountain Is v, the total area around the fountain that gets wet Is -
a) m/g b) m'igr g m'/2g? dy m*/ g’
8) A moving body Is covering distances in proportional'to the square of time along a straight line.
The acceleration of the body is e S
a) increasing . b) decreasing c) zero' ‘ d) constant
9) What is dot product of two vectors of magnitude 3 and 5, if angle between them is 60°?
a)9.5 by84. ' 1 i @e)TE d) 5.2
10) Two bullets are fired at angle 0 and (90 - 8) to the horizontal with same speed. The ratio of their
time of flightis a)1:1 ' ' b)tan; 1 c) 1: tang d) tan0 : 1 e ,
11) What force will change the velocity of a body 1 kg from 20 ms ™ to 30 ms™ in 2 s?
a)25N . CBY1ON " ¢)5N° . d)2N
12) The mass of a lift is 2000 kg. The ténsion in the supponing cable is 28000 N. Its accelerationis
a)30m 5-2 downwards: b) 4 m.';*.‘\2 upwards | c) 4 m s* downwards d) 14 m s? upwards
13) Which of the following quantities has its unit as Newton-second? : 3 K
a) torque | 1+ b) momentum | " ¢) energy d) planck’s constant
14) A block B is pushed momentarily along a horizontal surface with an initial velocity v. If p the
coefficient of sliding friction between B and the surface, block B will come to rest after a time
. h \ J A it Vi ‘ 2 |
ag— L q &
g Pl Uy "o L LS . v Ly
15) A force Fy of 500 N is required to push‘a car of mass 1000 kg slowly at constant speed on a level
rcad if a force F, of 1000 N is applied, the acceleration of the car will be ' :
a) zero " - b) 1,5‘m$‘2‘ &), c) 1ms? d) 0.5 ms™
16) A body of mass 100 g is rotating in a circular path of radius r with constant velocity. The work \
done in one complete revolution is *a) (/100)J.  b) (100 J  ¢) 1008 d) zero By
17)  Aforce F'=(5i +3j +2k) Nis applied over a particle disp'la'ces it from its origin to the point
- A i | SRl )
F=(2i—j)m. Thé'worl$ done on the particleis a)-7J b)+7J c¢) +10J d) +13J
18) If the new velocity of a body is twice of its previous velocity, then kinetic energy will become '
a) 2times ... b)0.5times ' c) 4times ~ d) 6times ’
19) A light and a heavier body have equal kinetic energy which one has greater momentum?
a) The heavierbody ' ) b) The light body
c) Both have equal momentum . i d) Data given is incomplete
20) In elastic collision 100% energy transfer takes place, when : }
a) my =my bymy>m; c) my <my d) my = 2m, :
21) If flywheel makes 120 rev/min then its angular speed will be TRVt \
a) 8 nrad/s b) 6 nrad/s c) 4nrad/s d) 2 n rad/s \
22) Relation between torque and angular momentum is similar to the relation between
. a) acceleration and velocity ‘ - ' b) mass and moment of inertia
| ¢) force and momentum i d) energy and displacement - i WAL
23) The angular speed of minute arm in a watchis* . ‘ S | i
‘ T =11k T -1 i ! b/ : \_| b/ A : »
a) =——vrad s . Db —rad s c ra i \
) 21600 BT ) 36007 ¥ G gppraty
24) The moment of inertia of a body comes into play ‘ ' -
a) in linear motion b) in rotational motion  ¢) in projectile motion  d) in periodic motion oy
25) A particle of mass 1 kg is kept at (1Tm, 1m, 1m). The moment of inertia of this particle about Z-
axis woud be a) 1kgm® b)2kgm®  'c)3kgm® | d) None of these
26) The force of gravitation is a) repulsive  b) electrostatic c) conservative = d) non-conservative
27) Let g1 and g, denote acceleration due to gravity on the surface of the earth and on a planet,
whose mass and radius are twice that of the earth. Then :
a) g1 =gz " b)gi=2g, c) g2 =2g, d) gy =2g;°
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I va tnd v, toprosont the oncapa valoclty and orbltaf volodlly of a natollile correnponding to a

clicular otbit of tndiua R (radiun of anith), then

a) v, e b) v V2 v; o) v, - v,,/‘\ff d) v, and v, aro not rolatad
Tho lima porlod of o antaliita In a clicular otblt of raciua R s T, The potlod of another aatellite In a

clicular oibitof tadius 4 Rln o) AT b) T/A o) BT d) 1/8

A mlsslla s launchod with o veloclly losa than the ascapo valoclty, The sum of its kinetle and
potemtial enciglon 1) la posltivo b) la nogativo , c) Ia zoro
d) may ba poslilve or nagativa deponding upon Ite initla voloclty

The gphotical shapo of a raln diop [s duoe lo

a) denslty of wator b) suzfaco tonslon c) atmosphorio pressuro dy gravity
Which of the followlng alfocts tho olasticlly of a subslance?

) hammating and annenling b) change In lemporalure

¢} Imputlty In \he substance d) oll of theso

Two wlios are mada of the same materlal and have the samae volume. However, wire 1 has cross-
sectional arca A and wire 2 has cross-soctional area 3A. If the length of wire 1 Increased by Ax
on applylng force F, how much forca Is noedad to stretch wire 2 by the same amount?

o) F b) 4F c) 6F d) 9F

A sphere of mass M and radlus a ls falling In a viscous fluld. The terminal velocity attained by the

falllnlg object will be propoitional to
a) a b)a c) 1/a d) 1/a?

The vafue of absolute zero on Celslus scaleIs  a) 0°C b)-32°C ¢)-40°C  d)-273.15°C
A black body Is at temperature of 500 K, It emlts energy at rate which Is proportional to

a) (500)* b) (500)° c) {500) d) 500

A black body at 1227°C emits radiations with maximum intensity at a wavelength of S000A°, If the
temperaluore of the body !s Increased by 1000°C the maximum intensity will be observed at
a) 4000 A b) 5000 A° . c) 6000 A° d) 3000 A°

The property of the system that does not change during an adiabatic change is
a) temperature b) volume , : C) pressure d) heat

The molar specific heats of an ideal gas at constant pressure anc constant volume are
denoted by Cp and Cy respectively. If y = C,/C, and R is a universal gas constant then Cyis

1+ - '
4 R C}'l

a) —= b)) —
l—y . ty-1 . R
A pressure cooker reduces cooking time for food, because
a) heat is more evenly distributed in the cooking space.
b) cooking involves chemical changes helped by a rise in temperature.
c) boiling point of water involved in cooking is increased.
d) the higher pressure inside the cooker crushes the food.

d) R

When volume of an ideal gas Is increased two times ard temperature is decreased half of its

temperature, then pressure becomes J AT
a) 2times - b) 4 times . c) 1/4 times

\

d) 1/2 times

The gases CO and N at the same temperature have kinetic energies Ejand E;
respectively. Then ' a)Es=E; b)E1>E2 c)Ey<E; d)Eiand E;cannotbe compared
A particle is executing a simple harmonic motion. Its maximum acceleration is o and maximum'

velocity is . Then its time period of vibration will be
27/ e . IR AP TN, 2y i .

a -—ﬂ ' b) ﬂz - c) — 1. S gty -4 p
a o ! | ﬂ J reywd a'

Two springs of spring constants kq'and k; are joined in series. T_hé effective spring constant of the

k, +k,

combination is given by a) \‘/k,kz . b o) k+k,'  d)

kl k2 A
k +k,

If the metal bob of a simplé pendulum ié replaced by a wooden bab, its time périod will

\

a) increase . b) decrease | c) remain the same d) firstincreases and then decreases

In SHM restoring force is F = -kx where k is constant, x is displacement and a is amplititude of
motion, then total energy depends upon a)k,a,m ' b) k,x, m c)k,a. d)kx

Which one of the following statements is true? ; ;

a) Both light and sound waves in air are transverse .

b) The sound waves in air are longitudinal while the light waves are transverse
c) Both light and sound waves Iin air are longitudinal

d) Both light and sound waves can travel in vacuum

An organ pipe, open at both ends, produces . ' :
a) longitudinal stationary waves b) longitudinal travelling waves
c) transverse slationary waves ‘ d) transverse travelling waves

\

In a closed organ pipe, the fundamental frequency is v. What will be the ratio of the frequency of

the next three overtones? a) 2:3:4 b) 345 ¢ 3I7TMN " d) 3:5:7
Two waves are said to be coherent, if they have ' ‘ Vg

a) same phase but different amplitude b) same frequency but different amplitude
c) same frequency, phase and amplitude d) diﬁergnt fr_equency. phase and amplitude
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